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Structure	
  α/β	
  en	
  2	
  couches:	
  	
  
1	
  feuillet	
  an:parallèle	
  à	
  3	
  brins	
  123,	
  recouvert	
  sur	
  une	
  face	
  par	
  5	
  hélices	
  ABCDE	
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Structure	
  tout	
  beta	
  à	
  3	
  feuillets:	
  
1	
  feuillet	
  à	
  2	
  brins	
  an://	
  (1,2),	
  un	
  feuillet	
  à	
  3	
  brins	
  an://	
  (3,4,5)	
  	
  
et	
  un	
  feuillet	
  à	
  5	
  brins	
  an://	
  (6,7,8,9,10)	
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Structure	
  α/β	
  à	
  3	
  couches:	
  
Un	
  feuillet	
  central	
  à	
  5	
  brins	
  (3,2,1,4,5)	
  recouvert	
  	
  
-­‐	
  Sur	
  une	
  face	
  par	
  3	
  hélices	
  (B,A,D)	
  
-­‐	
  Et	
  sur	
  l’autre	
  face	
  par	
  2	
  hélices	
  (C,E)	
  


